CIELABuU2-Normhelligkeit L*

L* YocmL*w - nc=100,

L* CiELABu2 B9 (Y/Y) Y259 (¥,=18, Y, /100<Y<=Y, )
L* N(3.6)=22,L* ,(18)=50,L* (90)=103

log[L*/L* ,]=0, m,=0,46

Yn=3.6

CIELABuU2

Normfarbwertdifferenz

Yoc=L*w - nc=100,
L* CiELABu2 B9 (Y/Y) Y259 (¥,=18, Y,/100<Y<=Y, )
log(dY) = (1/2,5) log[2,5¢/58)] + [1-(1/2,5)] logY)

v
* =50, dY,=4,27, dY,/Y,=0, 2377

bereich
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1 Yw=90

log (AY/Y) CIELABU2
. Normfarbwertemfindlichkeit
SOV Yoc=L*w - nc=100,
L* CiELABu2 B9 (Y/Y) Y259 (¥,=18, Y,/100<Y<=Y, )
log(dY/Y)= log[2,5(Y,/58)] - (1/2,5) log{/Y,,)
= (1/2,5) log[2,5¢,/58)] - (1/2,5) log{)

log(dY/Y)=—0,62 m,= .
.
* =50, dY,=4,27, dY,/Y,=0,2377 1 ~ <.bereich

log (Y/AY)
C,=(Y/AY)

CIELABuU2
Normfarbwertkontrast

Y=L w nc=100,

L* CiELABu2 B9 (Y/Y) Y259 (¥,=18, Y,/100<Y<=Y,)
log(Y/dY)= - log[2,5/,,/58)] + (1/2,5) log{/Y,)

= - (1/2,5) log[2,5(,/58)] + (1/2,5) logy)

* =50, dY,=4,

bereich
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CIELABU2 relative Normhelligkeit L*/L*
YocmL*w - nc=100,

L* CiELaBu2 59 (Y/Y) 259 (V=18 ¥,/100<Y<=Y, )
L*\(3,6)=22,L* ,(18)=50,L*,(90)=103

Anwendungs-|
bereich

Yy=90

log(A Y/AY W)
AYIAY,

CIELABuUZ relative
Normfarbwertdifferenz

Yoc=L*w - -nc=100,

L* CiELaBu2 59 (YY) 259 V=18, ¥,/100<Y<=Y, )
log(dY/dY,) = [1-(1/2,5)] loglf/Y,)

log [(AY/Y) I (AYIY)] CIELABU2 relative
Normfarbwertempfindlichkeit
S/Su=@YMIAYN), ot ™S EIE0.
L* CieLaBuz 59 (YY) 259 V=18, Y,/100<Y<=Y, )
log[(dY/YV)/(dY/Y),] = (1/2,5) log¥/Y,,)

Anwendungs-|
bereich

log[(dY/Y)(dY/Y),]=0, m,=-0,39
* (=50, dY,=4,27, dY,/Y=0,2377

YN=3.6 | Yw=90

log [(Y/AY) I (YIAY),] CIELABU2 relativer
Normfarbwertkontrast
CrlCry=(YIAV)I(YIAY)y yoi % 2100,

L* CiELABu2 59 (Y/Y) 259 (V=18 ¥,/100Y<=Y, )
logI(Y/dY)/(Y/dY),] = (1/2,5) loglY/Y,)
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YN=3.6  Yw=90




